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Integrato finale 2x25 W

unit
Voo max +38 v
To 105 T
Tstg —30~+105 c
3 Vog=+26V,Po=250 2  sec

R, =80 f =50Hz

unit
vee +26 v
Ry, 8 0

Ta:25°c.‘u'm2126\f,f{b:8n ,Rg=600() ,VG=40dB,
min typ max

Icco Voo==30W 20 40 120
Pyll) f =20~20kHz, THD=0. 08% 25
Py (2) Voo =223V, = | kHz, THD=0.2% 30
R, =40
THD £ =20~20kHz ,Po= IW 0.08
fiofy  Po=1W, 208, 7= 1Kz 10~ 100k
ry Po= IW,f=1kHz 32k
Vi Veg==£30V,Rg=10kQ) ¥ ¥ > b 12 mVrms
Vy Vog==3W =720 0 +720 mv
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This datasheet has been downloaded from:
www.DatasheetCatalog.com

Datasheets for electronic components.
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